E190 EREESFFRFAVIAIIIT(OTHEERE

ER30F11A118(R)

[BT] B HAE—2— XTI ME <FEBRHHB-BT>
AFVF c&J ) HER

B E| K mEE |%E| KHE 07T &Y (s g FoLE& | @A |manew JEG

1 2 3 1 2 3 Ju
55 R BK | EEDR 51.6 60 |[O| 60 65 62 (o] 71 73 60 Al 131 2 o)

EREDR 20 1
55 | O | # Il |@EEPR 51.80 60 |x| 65 65 70 o] 75 80 60 80 140 1 @]
55 L5 @B | PARkEE Xy *1fI=5m), 2f1=8m, 3fI=2/%
61| O| BHE {#IE |EEDR 60.20 45 |O| 48 51 60 [o| 65 70 51 70 121 1
67| O | =% BE |EEDL 66.35 68 |x| 75 75 80 |x| 95 95 75 95 170 1 o
67 Brh 2= |IEEEE 62.25 65 (O] 65 68 79 |o| 82 84 68 82 150 2 (@)
81| O |4\A =—Hi| EEHR 73.55 42 |o| 50 55 55 |o| 60 70 55 70 125 1
<BRIE-TF>
[%F])
RAFUTF c&J HEERK
- " AFwF| c&J " , _

Pk | A K4 fiE® |ZF| #KE <2k | AxR %)L IEfL F—L% B |sEemn AL

1 2 3 1 2 3 JLM
45 SF | EEDR 39.80 15 |x| 18 18 20 |o| 25 30 15 25 40 1

BAfkEE 10 1

55 | O | IR F5 | AR 52.90 40 | x| 40 40 50 |[o| 55 62 0 55 55 1
59 | O | Ki8 3 | ARt 59.00 40 |o| 45 47 50 |o| 55 60 45 60 105 1 O *1f=5m/, 2fi=3/, 3fI=2/K
64 | O | kiU EEL | BARMEE 64.00 45 |o| 50 55 60 [o| 65 70 50 70 120 1 O
+64 B/BE =X | BAS 75.65 50 [x| 55 55 67 |o| 67 70 50 70 120 1 @]




